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DOMAIN OF LOGARITHMIC FUNCTION

MATCHING GAME
The goal of the puzzle is to make correct pairs of questions and answers with a minimalamount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

You have no idea, how much poetry there is in the calculation of a table of logarithms!
Carl Gauss, German mathematician.Match the following logarithmic functions with their domains.
Functions

1 f (x) = log3(2− x)g(x) = log4(4x − 8)h(x) = 2− log 12 (x)k(x) = log 13 (−x) + 1l(x) = log0.5(12x − 6)m(x) = 12 − ln(1− 2x)r(x) = ln(2 + x)s(x) = log6(6x + 3)
2 f (x) = log3(2− x)g(x) = log4(4x − 8)h(x) = 2− log 12 (x)k(x) = log 13 (−x) + 1l(x) = log0.5(12x − 6)m(x) = 12 − ln(1− 2x)r(x) = ln(2 + x)s(x) = log6(6x + 3)
3 f (x) = log3(2− x)g(x) = log4(4x − 8)h(x) = 2− log 12 (x)k(x) = log 13 (−x) + 1l(x) = log0.5(12x − 6)m(x) = 12 − ln(1− 2x)r(x) = ln(2 + x)s(x) = log6(6x + 3)
4 f (x) = log3(2− x)g(x) = log4(4x − 8)h(x) = 2− log 12 (x)k(x) = log 13 (−x) + 1l(x) = log0.5(12x − 6)m(x) = 12 − ln(1− 2x)r(x) = ln(2 + x)s(x) = log6(6x + 3)

5 f (x) = log3(2− x)g(x) = log4(4x − 8)h(x) = 2− log 12 (x)k(x) = log 13 (−x) + 1l(x) = log0.5(12x − 6)m(x) = 12 − ln(1− 2x)r(x) = ln(2 + x)s(x) = log6(6x + 3)
6 f (x) = log3(2− x)g(x) = log4(4x − 8)h(x) = 2− log 12 (x)k(x) = log 13 (−x) + 1l(x) = log0.5(12x − 6)m(x) = 12 − ln(1− 2x)r(x) = ln(2 + x)s(x) = log6(6x + 3)
7 f (x) = log3(2− x)g(x) = log4(4x − 8)h(x) = 2− log 12 (x)k(x) = log 13 (−x) + 1l(x) = log0.5(12x − 6)m(x) = 12 − ln(1− 2x)r(x) = ln(2 + x)s(x) = log6(6x + 3)
8 f (x) = log3(2− x)g(x) = log4(4x − 8)h(x) = 2− log 12 (x)k(x) = log 13 (−x) + 1l(x) = log0.5(12x − 6)m(x) = 12 − ln(1− 2x)r(x) = ln(2 + x)s(x) = log6(6x + 3)

Domains

A (−∞, 2)(2,∞)(0,∞)(−∞, 0)(12 ,∞
)(

−∞, 12
)(−2,∞)(

−12 ,∞
)

B (−∞, 2)(2,∞)(0,∞)(−∞, 0)(12 ,∞
)(

−∞, 12
)(−2,∞)(

−12 ,∞
) C (−∞, 2)(2,∞)(0,∞)(−∞, 0)(12 ,∞

)(
−∞, 12

)(−2,∞)(
−12 ,∞

)
D (−∞, 2)(2,∞)(0,∞)(−∞, 0)(12 ,∞

)(
−∞, 12

)(−2,∞)(
−12 ,∞

) E (−∞, 2)(2,∞)(0,∞)(−∞, 0)(12 ,∞
)(

−∞, 12
)(−2,∞)(

−12 ,∞
)

F (−∞, 2)(2,∞)(0,∞)(−∞, 0)(12 ,∞
)(

−∞, 12
)(−2,∞)(

−12 ,∞
) G (−∞, 2)(2,∞)(0,∞)(−∞, 0)(12 ,∞

)(
−∞, 12

)(−2,∞)(
−12 ,∞

)
H (−∞, 2)(2,∞)(0,∞)(−∞, 0)(12 ,∞

)(
−∞, 12

)(−2,∞)(
−12 ,∞

)



Good job, buddy!You can go celebrate!Wait! Sheldon might get jealous!Awesome! Keep it up!Great, you are very good at this!A little harder and you would kill it. Try
it again.

Good job, but you are no Einstein yet!You are so close!
You just made a misclick.

It almost couldn’t have been better.
Almost.

Almost there.
I’m sure you’ll even do better next time.

Try again, practice makes perfect!Not great, not terrible.
You are somewhere in the middle.
It’s not bad, but you can do better!You understand this a bit,

but you still need to practice.
Everyone can make a mistake. What’s
important is to learn from it and don’t

give up.

That didn’t end up very well.
You should study more.

Pity, you might need to practice more.Ehm, you aren’t Jesus walking on water.
Get back on the ground!

Are you keeping your energy for later?You may not be a future Fields Medal
laureate, but you can do better on this

test.

Most of your answers
were unfortunately like π — irrational.

You’ll be better next time.

Let’s pretend it never happened.Have you ever seen the way a chicken
flies?

You solve math problems that way. . .

The stars weren’t aligned in your favour
today.

Next time don’t multiply your knowledge
by zero.




